






28.	 Part A:	

	 Part B:	      A 	      B 	      C 	      D

	 Part C:	

	 Part D:	      M 	      P 	      R 	      S

	 Part E:	

	 Part F:	      A 	      B 	      C 	      D

29.	      M 	      P 	      R 	      S

30.	

31.

	

       increases

       decreases

	

       0.5%

       0.995%

       5%

       99.5%

       995%
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Subpart 1 Practice Test Questions

1.	      A 	      B 	      C 	      D

2.	      M 	      P 	      R 	      S

3.	      A 	      B 	      C 	      D 	      E 	 (select all that apply)

4.	      M 	      P 	      R 	      S

5.	      A 	      B 	      C 	      D

6.	      M 	      P 	      R 	      S

7.	      A 	      B 	      C 	      D

8.	

−3x4 + 9x3 − 8x2 − 2x + 12

9.	      M 	      P 	      R 	      S

Subpart 2 Practice Test Questions

10.	      A 	      B 	      C 	      D 	      E 	 (select three)

11.	      M 	      P 	      R 	      S

12.	      A 	      B 	      C 	      D

13.	      M 	      P 	      R 	      S 	      T 	      V 	 (select all that apply)

14.	      A 	      B 	      C 	      D

15.	      M 	      P 	      R 	      S 	      T 	      V 	 (select all that apply)

16.	      A 	      B 	      C 	      D

17.	      M 	      P 	      R 	      S

18.	
3072
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19.	 Part A:

	
40d + 12 ≥ 100 or equivalent

	 Part B:

	
2.2

20.	      A 	      B 	      C 	      D

Subpart 3 Practice Test Questions

21.	      A 	      B 	      C 	      D

22.	      M 	      P 	      R 	      S

23.	 Part A:	      A 	      B 	      C 	      D

	 Part B:

	
3.25
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24.

	

25.	

v(t) = 25000(0.975)t

26.	      M 	      P 	      R 	      S

27.	
1 (any order)

	
9 (any order)
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28.	 Part A:	

15,625

	 Part B:	      A 	      B 	      C 	      D

	 Part C:	

600

	 Part D:	      M 	      P 	      R 	      S

	 Part E:	

17,500

	 Part F:	      A 	      B 	      C 	      D

29.	      M 	      P 	      R 	      S

30.	

f(x) = (x + 4)2 − 10

31.

	

       increases

       decreases

	

       0.5%

       0.995%

       5%

       99.5%

       995%
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TNReady Practice Test Standards Alignment and Key - Algebra I 
(2017–2018) 

Subpart 1 Key Standard 
1 D A1.A.REI.A.1 
2 R or C A1.A.CED.A.2 
3 A, B, E A1.F.IF.A.1 
4 R or C A1.SI.D.C.7 
5 B A1.F.IF.C.6b 
6 P or B A1.A.SSE.A.2 
7 D A1.S.ID.A.2 
8 −3𝑥𝑥𝑥𝑥4 + 9𝑥𝑥𝑥𝑥3 − 8𝑥𝑥𝑥𝑥2 − 2𝑥𝑥𝑥𝑥 + 12 A1.A.APR.A.1 
9 S or D A1.F.BF.B.2 

Subpart 2   
10 B, D, E A1.S.ID.A.3 
11 P or B A1.F.BF.A.1a 
12 C A1.A.REI.B.2 
13 P, R, S or B, C, D A1.A.APR.B.2 
14 D A1.A.SSE.A.1b 
15 P, V or B, F A1.A.REI.D.6 
16 B A1.F.LE.B.4 
17 M or A A1.A.REI.B.3a 
18 3072 A1.F.IF.A.2 
19 40𝑑𝑑𝑑𝑑 + 12 ≥ 100 or equivalent;     2.2 A1.A.CED.A.1 
20 D A1.F.IF.B.3 

Subpart 3   
21 D A1.A.REI.A.1 
22 R or C A1.S.ID.B.4a 
23 D;    3.25 A1.A.REI.C.4 
24 Graph of 𝑓𝑓𝑓𝑓(𝑥𝑥𝑥𝑥) = 𝑥𝑥𝑥𝑥2 − 2𝑥𝑥𝑥𝑥 A1.F.IF.C.6a 
25 𝑣𝑣𝑣𝑣(𝑡𝑡𝑡𝑡) = 25000(0.975)𝑡𝑡𝑡𝑡 A1.F.LE.A.2 
26 R or C A1.A.CED.A.3 
27 1 and 9 (any order) A1.A.REI.B.3b 

28a 15,625 A1.N.Q.A.1 
28b A A1.F.BF.A.1a 
28c 600 A1.N.Q.A.2 
28d P or B A1.A.REI.B.3a 
28e 17,500 A1.F.IF.A.2 
28f D A1.F.IF.B.3 
29 S or D A1.N.Q.A.1 
30 𝑓𝑓𝑓𝑓(𝑥𝑥𝑥𝑥) = (𝑥𝑥𝑥𝑥 + 4)2 − 10 A1.A.SSE.B.3b 
31 decreases;    0.5% A1.A.SSE.A.1b 
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